PURCHASE DIVISION, Advice for approval for credit to contractor

Date:	26/04/2021		Prepared by:		T.D. Murt	hy		
WO no.	-		WO date.		-			
Contractor Name	Bohini Basappa		WO amount	- A	-			
Firm/Company	Modi Properties PVT LTD	Project name Mayflow			Mayflowe	wer Platinum		
Nature of work	Painting work		55		8			
Villa/flat/block no.	C- 501 to 506,B- 503,502 & 504	1.						
Request for payment date	05/04/2021	Request fo	or payment amo	ount – B		Rs. 92,	040/-	
GST on bills – C	Rs. 16,567/-	Total D =	B + C			Rs. 1,0	8,607/-	
Work done from	21/03/2021	Work don	ė to			31/03/2	2021	
Sl. No	Bill No.	Bill date				Bill an	nount	
1.	192	26/04/202	1			Rs. 1,0	8,607/-	
2.	•	-				-		
3.	-	-				-		
4.	-	-				-		
	L		Α	mount E-	Bills total	Rs. 1,0	8,607/-	
Amount F - Voucher payme 20% transport charges – or	ent amount F (D-E) – 40% labour as per guidelines	charges, 40	% allowance for	or consumat	oles and	-		
Amount G - Other Credits :						-		
Amount H - Other Debits:						-		
Amount I - to be credited to	the contractor (E+F+G-H)	60				Rs. 1,0	8,607/-	
Amount J – Difference A-B	3 (should be nil)					-		
Amount K – Difference D-	E-F (should be nil)		2			-		
Quantity received as per W	0	□ Yes □	Excess receive	ed Short r	eceived ø	Explair	ned below	\neg
Difference between A & B		□ Yes □	No (explained	d below)		•		
Excess / short material rece	ived	□ Approv	ed - within acc	eptable limi	ts 🗆 No (e	explaine	d below),	
Close WO Ves No – wait for balance material No (explaine	d below)		
Advance paid / PDC given	(deduct when paying)	□ Yes – R	s. /- QX	To				
Payment – due date		01/05/202		/		T.		
Remarks: No work order f	for above bill. Please consider th							
Approved by Purcha Office		rement ger	M.D.	Accounts - receiver of bill	Account	ants	Accounts Manager	
Sign:	26	APR ZUZI						
Date	this ?							

Notes: 1. In case amount to be credited to contractor and the bills total does not match prepare JV for debit or credit. 2. Attach additional sheets if quantity of bills or DCs is more than the space provided. Clearly mark the space provided with 'see attachment'. 3. Purchase Officer can approve WOs upto Rs. 5,000/-, Purchase Manager and Procurement Manager to approve all bills from 5,000/- to 1,00,000/- 4. Attach JV, Office copy of WO, DCs and bills to this advice. 5. To be approved by accounts manager if value exceeds Rs. 10,000/- 6. MD to approve all bills above Rs. 1,00,000/-

TAX INVOICE

Cell: 9177986028

8328000681



BOHINI BASAPPA

#3-1-117/3/A, Chandiya Nagar, Mallapur, Hyderabad - 500 076.

Name: Mocli Properties PoT 41) Address:			Invoice No					
G	ST IN: 36	AABUNGAGED 12 Hstate 7.	1. Code 26		Supply:		_	
S. No.	HSN Code	PARTICULARS	5	Quantity	Rate	Amount Rs.	Ps.	
1	9201	Painling work done C-501 to 576, B-50:	a fact	01	6.7.	92040	a	
3		C-501 +6 516, B-50	3,502,504	19				
4			-				H	
5		a v						
6		•						
7								
9							Н	
10		OP INMAR	0 0					
11		No. 13 Date 26 Sign 26	968			1		
		*SEC'BA		SUB TO	OTAL	92,040	u	
То	tal invoice an	nount in words: Our lang e	igui leorusan	DISCO	JNT	-		
	in hou	duced and Seven	may	Net Sa	le Value	92,040	0	
M	ode of Payme	nt : Cash / Cheque No.		Add : 0	GST 9%	8283	60	
Ва	ank	Da	te opi /	Add: S	SGST 7%	8283	60	
	ank Details ANK NAME	: HDFC BANK	Sign-NW NW	Add : I	GST %		2.	
IF	CCOUNT NO. SC CODE RANCH NAMI	· HDEC0000126	ARD 2	GRANI	TOTAL	1,08,60	2	
Ir	iterest @ 21%	will be charged for the delayed payments dicannot be taken back or exchanged.	911	4	For BOH	INI BASAPPA	1	
V	Varranty claims	as per company norms. subject toe Hyderabad Jurisdiction only.	Receiver's Signature &	& Stamp	S	ignature ignature	-	

99: 6/271 to 61284

Construction division Advice for giving credit to contractors suppliers.

Sl No site bills register Company Name:	636. MPL	Regi- Site:	- site bill ster	10 05/04/2021 May Flower Platinum	
Name of Contractor	B. Basa				
Nature of work Work done	Painting From Date	21/3/20	To	Date 31/03/2021	
St. Villa Flat block no. No. One Cord of	Qty.	Rate	Units	Amount Contractors bill no	
1. doppen world. 2. C-501, C-502, C-50 3. C-504-1500 X4	3, 6000 St2	61-	sfr	36,000 =00	
4. C-505, C-506, R- 5. R-504-1800 x4	503 7,200 Sft	6/-	Sff	43,200=0	
6. B-502-2140S	ff 21405fr	66-	Sff	12,840=P	
7. 8. Total				92,040=00	
9. GST 18%				·16,567=P	
10.					
	otal:			1,08,607==	
Bill required	YES TNO.	GS	Γ bill requ	ired YES NO.	
Measurement & estimate sheet: PO/WO no.	Required Not required	esti	asurement mate shee WO date:	t: _ Not enclosed	
Remarks:		e e o reed la ac			
	-				
-			-		
	-			W	
Approved by Project Ma	nager Appro	oved by De	sign Team	Approved by MIDED BY	-
Date: 05 4 202	Date:	nola	,) = 1	Date: 0.0 ADD 2024	and of the state of
Sign: Zel	Sign:	00/0	13/2/	08 APR 2021	THE REAL PROPERTY.
Notes: 1. This advice must be ser for hire charges, earth work, turnly are not required for turnley jobs a	ey civil contractors, 3	mpleting work. Whorever not	2. This form applicable –	can be used for stribing DIRECTOR. fill NA. 4. Estimate and measurement closet	

Com	ASUREMENT SHEET upany Name:		T	T	T		T	T	1
Proje	party (vame:	MPPL		-	Approved	т		+	
		May Flower Patinum			1				
wor	k Description:	Point: CD							
Nam	e of the Contractor	Painting of Flat nos C-501, C-502, C-503, C-504, C-B. Basappa	-505, C-506.	B-502, B-5	03. B-504 I	st coat of l	appam work		
Prepa	ared By		T	1	T	I	1	1	
Date		K. Narender Reddy	 		-	1	 	 	
		05-04-2021	+			-	-	 	
S No			A	В	С	D	E=AxBxCxD	F	G=Sum of E
	Painting of Flat nos C 501	ttem Description , C-502, C-503, C-504, C-505, C-506, B-502, B-503,	Length	Width	Height	Nos.	Quantity	Units	Item Head Tota
	103 C-301	, C-502, C-503, C-504, C-505, C-506, B-502, B-503	B-504 1st co	at of lann	am work				
		, , , , , , , , , , , , , , , , , , , ,	T SO T IST CO	at or tapp	III WOLK	+	 		
1	Painting work		1		 				
	BWOLK	1st coat lappam work C-501, C-502, C-503, C-504,	1 500 00	4.00	1.00	1.00			
		- 1500 sft flats	1,500.00	1.00	1.00	4.00	6000.00	sft	
2	Painting work		-		-	-			
_	anting work	1st coat lappam workC-505, C-506, B-503, B-504	-			1			
		- 1800 sft flats	1,800.00	1.00	1.00	4.00	7200.00	sft	
-									
	Painting work	1st coat language							
3		1st coat lappam work B -502 - 2140 sft	2,140.00	1.00	1.00	1.00	2140 00	sft	
3									

ESTIMATE	SHEET					Approved	
Company '	Name:	MPPL					
Project:		May Flower Patinum					
Work Des	cription:	Painting of Flat nos C-501, C-502, C-503, C-504, C-505	. C-506. B-502. B	-503, B-50	4 1st coat o	f lappam work	
Name of th	ne Contractor	B. Basappa					
Prepared E	3,	K. Narender Reddy					
Date		05-04-2021					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
	Painting of Flat nos (C-501, C-502, C-503, C-504, C-505, C-506, B-502, B-503, I	B-504 1st coat of	lappam w	ork		
1	Painting work	1st coat lappam work C-501, C-502, C-503, C-504,	6,000.00	sft	6.00	36000	
		- 1500 sft flats					
2	Painting work	1st coat lappam workC-505, C-506, B-503, B-504	7,200.00	sft	6.00	43200	
		- 1800 sft flats					
3	Painting work	1st coat lappam work B -502 - 2140 sft	2,140.00	sft	6.00	12840	
							92040
							1656
		Total Amount					108607
		A service and One Lake Field Thousand Six U.	d==d==dS====				
		Amount in words One Lakh Eight Thousand Six Hun	dred and Seven	Rupees on	ly		
	Note & II coats lappa	am 40% of Rs. 30. 1st coat lappam 20% of Rs30/- i,e Rs.6/- a	nd 18 % GST add	ied			

and the second